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QUESTION 1

Which two statements are true about Oracle Information Rights Management Server 11g? 

A. 11g server still supports MS IIS for backward compatibility. 

B. 11g server release has been completely rewritten in Java as JAVA EE application. 

C. 11g server release has two management consoles. 

D. 11g server release has only one management console. 

Correct Answer: AD 

 

QUESTION 2

Which two options do you see when installing Oracle Universal Records Management? 

A. Physical Content Manager 

B. Desktop Integration Suite 

C. Component Wizard 

D. Records Manager Email 

Correct Answer: BC 

 

QUESTION 3

Which two statements are true about subtemplates in Oracle Site Studio? 

A. Subtemplates do not have , , and  sections. 

B. A benefit of using subtemplates is that you can add one without affecting the number of asset types that need to be
managed. 

C. A Web site should have at least one subtemplate. 

D. Subtemplates can be placed only within placeholders. 

Correct Answer: AD 

 

QUESTION 4

Select the mode in which Oracle\\'s Site Studio Manager can be displayed. 

A. Contribution 
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B. Assistance 

C. Normal 

D. Basic 

Correct Answer: A 

 

QUESTION 5

In Oracle Content Server, the administrator user can assign multiple roles to a user. If a user has more than one role,
the permission becomes and . 

A. Additive 

B. Least restrictive 

C. Most restrictive 

D. Subtractive 

Correct Answer: BD 
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